FK-CTOH“ﬂ denomlal9 USING A GCF (Greatest Common Factor) 13. 18a’bc? - 48abc’ 14, 10x%y7 - 8xy

Fev.lem Simplify the following: * a(3a+7)

15, 5x - 13y 16. 2X7y - 2xy’+ 4xy
* 2m(m*+6m=-1) = o ‘
*  Sxy(x-2y) = W‘m% =
) : 17. 6y* + 14y - 107 G‘\C 2 Z \It 18. 12a°b’ - 36a‘b’ - 6a’b’
W i facroringr_SEROKORE_ oA POMNoma.- N3N -9)
. 19. 14gh? + 28gh +14h. . 3 e 20. 18xyz - 24xz’ + 36yz2°
.t RN A 8 A ) . s :
Ppwnials thar camor be facrned e caled PVAVAL T SFen | L
21. m’n = m’n? + 5mn® KF: mn | 2> 16xy? + 28xy + 8y
z 2
There will be several ways to factor; the approach we will take depends on the polynomial. mn ( m = mr‘ + 5 n )
Today, we will start by using the greatest common factor (GCF) of the polynomial. CE P TR RS TR T - DY Y e g o

E)('Amr[%' Factor the following polynomials by finding the greatest common factor.
Check your answers by re-distributing. :

1. 3x+12 2. 7y-7

3()( + 4’) GCF: K FQCK{’ - Rules for finding a GCF of a polynomial:
3. 5x + 30y 4. 8m + 36n

CF: 6 1) Look at coefficients first.
5(tey) @

2) A variable must be common to all terms to be a GCF.

5, 6a’ + 27 6. 4y’ - 24y )
3) If a variable is common to all terms, take the one with the smallest exponent.

4) Divide all terms by the GCF to get the remainder in parentheses.

7. 21cd-3d 5 8. 14gh - 18h
pAe-y
;:31;& ;Oibz-) @ CF . ‘mb 10. 16bc” + 24bc

11, ab-a 12. X +3xy.
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Factoring Polynomial§ by Grouping (s Terms FAGTORING TRINOMIALS

Steps Example
1 7 To factor 2 trinomial of the form above, you must find
Step 1: Group the first two terms together N - n 0 A lig
and the last two terms together. <x3 + 7x2‘;+€x + 14> two i TC&CI’S that MuLTIPLY C, AND ADD VP TO B,
¥ Yo — S [XOmPIGS: Factor the following trionomials. Check your answers by FOIL.
. . 3'\7- Y":}} 2 ) W41 LR+ %x+12 e xe - 2. 07+ 9n+ 20
Step 2: Factor out the GCF for each binomial. o Tk N NS e 43 { ) tb7l Xct1. *
A O ERD) 3
Step 3: The GCF from each binomial will become one factor “(’ = ‘ : .
and remaining binomial will be the other factor. (x + l)(x + 1) "’\‘t') - 3.[h"+oh + 18 . -{ L;} '.‘ *"2 X (,, :“i[ 4. azf" 10a + 2‘!
Step 4: Use FOIL to check your answer. o+ x x ' R ‘
chadd o)Ee T 5. KK+ 6k+5 6. Y +2y+1
% ' ,’ ol T PR : (i
pra ice! ']I Factor each polynomial by grouping. Check your answer by FOIL.
13x #1522 2x — 19 2. 8x + 12x + 2xy + 3y 7.n7+3n-18 1013 XC:i-p|8 X rx-8

@’X*@ X+5) (n+o)n-3)  ©i°?
(x_,‘_é)(%y\z-Z) 9. g’ +3g-10 10. s 1.:35_5‘:f

»
3 x’+2x7£5x—10) 4. x* +4x3+2x+8

XL(V\.*. 7_‘) i (x -2.2'3 11, F +4c-45 12. q1-+‘3n.—28
7 ..g GRF: (k)
DX

13. x* + 7x =30 14, '+ 5a-6
s(eyz - 3_})+(Zyz - 27 6. x%y +3x* = 7y% - 21y
3\1 (2'\1 - ‘)+ ?:<Z\I -\ 15, b’-2b- 63 16..a;—2a -‘é
GLF:(24-Y) .
(24-1)(2y+2) 2 B
7. 10x% - 25x% + 4x — 10 8. 2x%y+6xy—x—3 17. K- 12k - 64 Yo:-1L XC'-’L 118, x* - 14x - 72
o\

(K-10)(K+4) -0, 4
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